
(b) Can vaccination be regarded as a preventive measuie for

small-pox from the data given below :

'Of 1,500 persons in a locality exposed to small-pox, 400

in all were attacked.'

'Of 1,500 persons,350 had been vaccinated and ofthese

only 40 were attacked.' 6$

Civen the following data, find the l'requencies of:

(, the remaininB positive classes, and

(r0 the ultimate classes;

N = r800, (A) = Eso, (B) = 7E0. (C) = 326. (ABT) = 200.

(A0c) - e4, (aBc) = i2 ana leecj = so.
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l. (a) Do the following :

(0 For a platykunic dishibution f ir ...................... .

(8) 7353 tfrrtlT *

8. (a)

(b') In a ri-variate distribution, rp . ry: r,, = r. Obtain

r,., , and R2, rr.

(c) Cive the expression for the angle berween lines of

regression of X on Y and Y on X. Also discuss the cases

when X and Y are :

A) Uncorrelated, and

(ii) Prefectlycorrelatedl
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(ii) Limits of Bowley's coefficient of skewness (b) Qefine Spearman's rank correlation coefficient (p). Obtain

it for the following data :

Rank(X) Rank (Y)

45

.626i

State the principle of least squares. Obtain the normal

equations for fitting the eiponential curve y = alY. Civen

the following data :

N = lo, rU,: s.56, rx, = 55, ruixi = 39.83 and

XXi = :SS where U, = log Yi.

Obtain the estimates of A = Iog a and B = log 6.

P.T.O.

are ...................--. -

t

(rv) The limits for coefficient of adsocjation

(v) Name the lype of cofrelation coefficient which

can never be.negative.

(b) (l) l0 is the mean of 7 observations and 8 is the

mean of 3 observations. Mean of the combined

set is

(r0 As part of an environmental impact study,

fishes were captured, tagged and released.

The following information was recorded for each
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(q)

!

fish : sex (0 = female, I = male), length (cm),

(iii) Attributcs A and B are said to be independent

if ...................... .

are ...................... .
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(b) Karl peaton
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t9,3y +9y=46
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3- (a) Find the nrean deviutiof,
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